(b) Write down the Functional Diagram instruction set of
4 PLC for Data Transfer and Arithmetic and logical
operation, @)

6. (a) Define modelling and simulation of a plant. What are
various steps to model a plant. Also Explain various
steps to validate the model of a plant. (10)

(b) Why Hierarchical structure of DDC is needed? Explain
hierarchical structure of DDC by describing functions
performed by each level. )

7. (a) What is the structure of Industrial Automation of a
plant? By considering example of Cement Plant,
explain various steps for automation of an industrial
plant. (10)

(b) Why Bus Arbitration technique is used for serial data
communication. Explain Various schemes of Bus
Arbitration and compare them. )]
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Instructions :
1. It is compulsory to answer all the questions (1.5 marks
each) of Part-A in short.
2. Answer any four questions from Part-B in detail.
3. Different sub-parts of a question are to be attempted
adjacent to each other.

PART-A
1. (a) Differentiate between Dedicated, Distributed and
central computer control plant automation. (1.5)

(b) Are Sync pulses used in TDM, if Yes Why? Justify
your answer. (1.5)

(c) Define accuracy of Digital to analog converters. If the
full-scale output is 15 V and accuracy is +0.1 percent
then what will be maximum error? (1.5)
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